Numerical Reasoning Test

Instructions
The following test contains a set of quantitative reasoning questions. You should read the question and
then choose the correct answer from among five existing options.
Example: What number should replace the question mark in the following sequence of numbers?
1 2 3 5 8 ?

a)9 b)10 )11 d)12 e)13

The correct answer is (e) 13. This numerical sequence follows the rules that the next number is the sum
of the previous two numbers. The previous two numbers 5 and 8 equal 13 when added together.

Each of the following questions has a particular rule for selecting the right solution. If you cannot find the
right solution, you may guess without penalty. Do not leave the answers blank. Try to fill in as many
questions as possible within the time specified.

Chose the correct answer code

1) A cup of tea and a small candy cost JD 1.10 in total. The cup of tea costs $1.00 more than the small
candy. How much does the small candy cost?

a)1  b)0.10 c) 0.01 d) 0.50 e) 0.05

2) If it takes 5 machines 5 minutes to make 5 products, how long would it take 100 machines to make
100 products?

a)1 b)2 ¢5 d)10 e)100

3) Inalake, there is a patch of lily pads. Every day, the patch doubles in size. If it takes 48 days for the
patch to cover the entire lake, how long would it take for the patch to cover half of the lake?

a)2  b)24 )23 d)47 e)4d6

4) The price of a computer is normally 400 JD at Hesham’s computer shop. Today, Hesham’s computer
shop is offering a 25% discount. How much would it cost you to buy a computer from Hesham’s
computer shop today?

a)350 b)200 c)25 d)225 €)300

5) Reem has a special discount on shawerma sandwiches today, for every two sandwiches you buy, you
get one free. Sandwiches are 1.50 JD each, and you have a budget of 30 JD. How many shawerma
sandwiches can you buy?

a)30 b)20 )45 d)15 e)49



6) What number should replace the question mark in the following sequence of numbers?
3 11 19 ? 35
a)29 b)27 «¢)31 d)25 e)26
7) What number should replace the question mark in a row following numbers:
3 6 11 18 ?
a)24 b)25 «¢)26 d)27 e)28

8) A certain family has 3 sons: Richard is 6 years older than David, and David is 8 years older than Scott.
If Richard is twice as old as Scott, then how old is David.

a)14 b)16 )18 d)20 e)22

9) If the bus always arrives at 11:00, and you arrive at the bus stop at 10:30, how many minutes will
you have to wait for the bus?

a)45 b)15 )20 d)40 e)30

10) A 1000 meter long train enters a 5000 meter long tunnel at a speed of 1000 meters per second. How
many seconds does it take for the train to completely exit the tunnel?

a)6 b) 5 c)10 d)4 e)7

11) If Fatma drives 100 kilometers in 50 minutes, how many minutes will it take her to drive 10
kilometers at the same rate?

a)2 b)20 ¢)50 d)10 e)5
12) 9isto 27 as 27 isto?
a)81 b)71 «¢)27 d)10 e)33
13) Aida’s research paper is 21 pages long in a Microsoft Word document. If she prints out her research
paper double sided (i.e. using both the front and back of the paper), how many pieces of paper will
Aida need?
a)l b)10 c¢)11 d)12 e)21
14) There are five friends Eman, Ahmed, Hassan, Khalid, and Galal. Khalid is the shortest. Ahmed is taller
than Hassan, but Ahmed is shorter than Galal and Eman. Thus, Ahmed is the Xth tallest person.

What is X?

a)l b) 2 c)3 d4 e)5



15) What number should replace the question mark in the following sequence of numbers:
0.5 275 5.0 7.25 9.5 ?

a) 11.25 b)12 ¢)10.75 d) 10.25 e) 11.75
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